D00

vier Briiche, Dezimalstellen, Reihenfolge der
Operationen

Name:

1
3,3——+2x4,8=
9 6 2

3
5,5+12x §+4+5><2,7=

1
2,9+ - +3x
’ 3

W —

1 1
3,3—=x5+6%x -+3=
2 6

Datum: Ergebnis:

1
2,2+4x £ +2-4x

N =

1
— - x4+43=
3 9

1
2,5+9><3,7+3—2><§=

1
5,33 +5%3,4=

1—57X2—8x1;4—
2 7 6
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D00

vier Briiche, Dezimalstellen, Reihenfolge der

Operationen
Name: Datum: Ergebnis:
191 11 2 14
3,3—l+2x4,8=i=12— 2,2+4><——2—4><1=—9= —
6 15 15 6 1 15
3 104 3 1 107 17
+12%x = +4+5%x2,7=— =20- ——=%X4+43=—=3—
%3 5 3x 27 5 0 5 3 >3 30 30
1 I 127 7 1 63 3
2,9+ - +3x - =—=4— 2,5+9%x3,7+3-2%x -=—=12-
’ 3 3 3 30 ’ ’ 2 5 5
1 2 3 17 5 1 659 29
—+t=-x5—-=—==1— 53— =+5%x3,4= — =21—
5 4 1 12 ’ 3 ’ 30 30
1 1 17 2 1 1 337 7
——X5+6X-—+3=—=1— - — X2=—8X —=+4=(—)=(—11—
33 2 o 6 15 15 2 %7 8 6 ( 30) ( 30)
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